Assembly Instructions

43229161 HAMPTONS WARDROBE 1 DOOR HANGING RAIL WITH STORAGE SHELF

CARE INSTRUCTIONS: TO BE ASSEMBLED ON A CLEAN, DRY AND SMOOTH SURFACE. WIPE CLEAN WITH A SOFT DAMP CLOTH. NEVER USE SCOURERS,
ABRASIVES OR CHEMICAL SOLVENTS. CHECK AND TIGHTEN ALL PARTS REGULARLY. KEEP AWAY FROM MOISTURE AND DIRECT SUNLIGHT. STORE IN A DRY
PLACE. FOR INDOOR USE ONLY.

WARNING! DO NOT STAND, SIT OR LEAN ON THIS UNIT.DO NOT USE THIS UNIT AS A STEP LADDER OR AS A CHOPPING SURFACE.ENSURE THIS UNIT IS USED
ONLY ON A FLAT SURFACE.DO NOT USE THIS UNIT UNLESS ALL BOLTS AND SCREWS ARE FIRMLY SECURED.UNANCHORED FURNITURE CAN TIP OVER. THIS
FURNITURE SHALL BE ANCHORED TO THE WALL WITH THE ENCLOSED SAFETY FITTING TO PREVENT IT FROM TIPPING OVER.

MAXIMUM SAFE LOAD: 5KGS FOR SHELF, CLOTH RAIL 8KGS.

al M6éx35 | 18pcs o | 9 1pcs
=2 | P| M15x10 18pos

&
Bm= | ©| M3.5x12|22pcs| | S~
Y

>

3pcs

j 1pc \ /
d| M8x30 |28pcs ~ |k 1pc / %
e| M4x50 | 4pcs o= m 20pcs - @
f| M4x55 | 6pcs € |p Tpc " % %
& [ 2pcs o= q| M3x12 | 2pcs %
@ . o
®

Do not tighten the screws
Fully tighten screws after the final assembly steps




STEP 1 STEP 2

+ x4 & o= gx1
= dx4 S hx3
o cx6

STEP 4

= dx9
2 bx9




STEP 5 STEP 6

= dx9 = dx6
= bx9 « exd
& fx2

e’

eg//
STEP 7 STEP 8

.
-




STEP 9

STEP 10

>~ ~ kx1

Y

User instructions should include the wording:

It is strongly recommended that this
product is permanently fixed to the wall.
Please seek professional advice if you

are in doubt of what fixing device to use.
Regularly check that anchors are securely
maintained.

Stability of tall items may be affected by
thick pile carpet or uneven floors .

Do not place unanchored televisions on
furniture .

CAUTION: for your safety when attaching the anchor fixings,
please note the following:

Check any electrical wires or plumbing
inside the wall before drilling any holes

(if you are unsure please seek professional
advice from a qualified tradesperson).

WARNING: PLEASE SECURE E
YOUR FURNITURE WITH i
THE SUPPLIED WALL o

FIXING. SCAN THE CODE Cry
ToppLING HAzARD | FOR MORE INFORMATION. | [x] -




19l 8yl

01 Joop ayj Jo doj ey} Buirow ‘xoq J8uiged sy} Jo apis ay) 0} J8soo s|ind abuly sy os abuly
doj sy} UO MaIos apIs-0}-apIs By} UIn} B By} 0} umop Bul 8q 0} SWeaS Joop By} J| 'Spesu
1 UOI1D81100 Yyonw moy uo Buipuadap ‘Joop yoes uo sebuly yiog Jo auo 1snipe ued NoA 19| Jo ybBLl Joop 8y} SAON

ERIETEY
ay} op ‘wonoq sy} 1e paddeb si Joop ayy J| ‘1ouIges ayy woly Aeme abuly wonoq ay) isnipe
Jo/pue jauiged ayy piemo} abuly doy ay) jsnipe ‘do} auj Je xoq 8y} }9eu 3,Usaop Joop auj | 1IN0 pue Ul J00p 8y} SAOA|
N Vo ﬂ ]

D

-
=28 _-

\

el
|

‘puey Ag smalos ay usyybnay

‘uonisod Jo 1no Joop 8y} 9j3sol 0} Jou |nyased Buiaqg ‘uiebe Joop 18uiqed ayy uadQ
JyBiay palisep 8y} 0} J0op JoulqeD ay} Jsnipe ‘Paso|o ||i}s J00p BY} YNAA

*JOOp }8uIqed 8y} 8so0j0 Ajusag)

= *Aybys Ajuo 1nq ‘sebuiy Y1og Uo smalos Buipunow oM} 8y} USS00T

~ o < W

umop pue dn Joop ay} }snipy

==
ful
1Y

e
| e

AL

:sdr} mo[oq oy Mo[[0J 9sed[d
"A[quiasse 3s11j udym paudijesiw ‘Surdwng ‘Furderds 9q Y3 100p Y], PAON

sdi 1, yusunysnlpy J3uryg




	页 1
	页 2
	页 3
	页 4
	页 5

